
7

015-1156 (7kg)x6(7kg)x6
(15.4lbs)x6(15.4lbs)x6

RATEDRATED

(7kg)x6
(15.4lbs)x6

RATED

VESA
75x75 100x100

32" 
MAX

6

Manuel d'instruction / Instruction manual V1

Monitor desk stand

Support de bureau pour 6 
écrans moniteur 17''-32''

Note:�If�the�display�does�not�stop�at�your� 
desired�position,�tighten�the�screws�as�shown.�

P

Q

Q

Remarque : Si l'écran ne s'arrête pas à la position souhaitée, 
serrez les vis comme indiqué.



1

E (x6)D (x1)

A (x1)

G (x4) H (x4) K (x4)J (x6)

L (x2) P (x1)
4mm

R (x1)M (x1)

M-C (x4)
M5x12

M-A (x4)
M4x12

M-E (x4)
D5

M-B (x4)
M4x16

M-D (x4)
M5x16

M-F (x4)

x6

F (x4)

N (x2) O (x8)

I (x2)

Q (x1)
6mm

B (x1)

C (x1)

P-H (x6)
M6x10

C

P

P-H
P

1

P

B

P-H

3

P

P-G (x3)
M6x16

2

5

4

P-A

E

3

M-A
M-C

M-E

M-B
M-D

M-E

M-F

D

P

A

P-G

Too ShortToo long

CAUTION: Please make sure you attach same monitors on the table stand otherwise the table 
stand might be inverted. Also, while you are installing a montitor on the one side, another person 
should hold the other side of the mount to keep the table stand stable.

ATTENTION : Veillez à fixer les mêmes moniteurs sur le support de table, sinon il risque de se 
renverser. De plus, lorsque vous installez un moniteur d'un côté, une autre personne doit tenir 
l'autre côté du support pour que le support de table reste stable.

P-E (x2)
M8

P-D (x4)
D8

P-F (x24)
M6x27

P-A (x6)
M6x10

P-C (x2)
M8x50

P-B (x4)
M4x5

H

P

P-B

Attach the sliding parts (H) to both sides of the arm.
Fixez les pièces coulissantes (H) des deux côtés du bras.  

L

G

2

P-D

I

P-E

R

Q

P-C

2

M

O
N

K

J

F

P-F
P

1

Ensure the connector is facing to the front when attaching it to the pole.
Assurez-vous que le connecteur est orienté vers l'avant lorsque vous le fixez à la base.


	页 1
	页 2



